e B H A X B AN O emistoss ol 55
X & A 0 | @Ak ]| wEx | WAL
& & 34,511 | A 176 13,247 | A 47

| = 16,500 | A 119 - -

nR I 18,011 | A 57 - -
" 4,479 | A 30 1,816 | A8
B = 2,955 | A 19 1,026 | A8
s e 682 | 4 197 1
0 B 807 | A1 233 | 1
*x B # K 6,055 | A 33 2,192 0
W E X 2, 177 A 3 811 0
BB X 1,719 | A 14 620 A8
BT B 4 X 3.390 | A 18 1,147 1
BERMK 1,253 | A3 429 0
= H# K 2,203 | A 37 1,130 | A 35
H R MK 760 3 269 1
N 26,480 | A 151 9,870 | A 53
£ @ 1,191 0 564 1
o 651 9 276 7
2 5 479 A 2 228 Al
— 1,109 | A 15 462 | A1
M 2,145 0 841 2
=/ 92| A6 380 0
Wk 798| A2 0 323 A1l
_— 666 A9 303 A1l
N B 8,031 | A 25 3,377 6




iy B o X B A O emiseosgogme]

X 7 A 0O | BiAK HHE . | BTA

& 1 34, 676 165 13, 454 207
| B 16, 658 158 - -
AR5 18,018 7 - -

m o 4,414 | A5 1,817 1

B = 2, 955 0 1,035 9

MERK ) 679 | A 3 196 Al

- 804 | A3 234 1

*x B # X 6, 064 9 2,200 8

] & P X 2,181 4 819 8

OB X 1,726 7 619 | A1

T 9 4 X 3,391 1 1,152 5

R 1,254 1 428 Al

= H MK 2. 365 162 1,300 170

7R X AN 269 0

/Nat 26, 650 170 10, 069 199

£ p 1,196 5 571 7

Cl 651 0| 277 1

P 478 | A1 298 0

R 1,102 AT 59| A3

ELLEC S e 2,146 | 1| 842 1

* B 992 o 380 | 0

Wl 798| 0 3% )

% A - 663| A3 3031 0

/NEt 8,026 | A5 3, 385 8




W 5

Hh

X B A A

M (5% 184206 01 H BAE]
X % A O | BiAk | &K | §6Ak
P 34,644 | A 32 13,450 | A4
RE 16, 652 N - -
nR 17,992 | A 26 - -
" 4,475 1 1,821
B = 2,946 A9 1,033 A 2
e 680 | 1 196
5 81| A3 234
*x B # X 6,078 14 2,202
R E X 2,183 2 816 | A 3
@M K 1,725 Al 620
BT O o K 3,378 | A 13 1,147 A5
BEEHK 1,243 A 11 428 0
= # i K 2.364 | A1 1,302 2
R K B3| A4 269 0
N B 26,626 | A 24 10,068 [ A 1
B 1,193 A 3 571 0
R 651 | 0 276 Al
B B 478 0 298 0
ol 1,103 1 459 0
P B 2,145 Al 841 Al
=8 90| A2 379 | A1
W oE 94| A4 35| 0
€ W 664 1| 03| 0
N E 8,018 A 8 3.382| A3




iR 5

&2

X B A O

m [Fa 1842078 01 B BZ]
K # A O | WAk | wEx | @Ak
& & 34,592 | A 52 13,440 | A 10
5 16,619 | A 33 - -
AL 17,973 | A 19 - -
B 4,464 | A 11 1,824
B = 2,943 A 3 1,031 A 2
e 674 | A 8 196 0
B 799 A 2 234 0
*x B # K 6, 081 3 2,202 0
W X 2,179 A 4 817 1
CE S 1,721 A 4 618 A 2
B OB i X 3, 374 A 4 1,143 A 4
EERBK 1,242 Al 428 0
= o K 2. 360 A 4 1,298 A 4
R H K 751 A 2 269 0
N B 26,588 | A 38 10,060 | A 8
B 1,185 A 8 568 A 3
BT A 650 A 1 277 1
2 8 478 0 228 0
—— :rf 1,102 | A 460 1
M1 i 2,146 1 842 1
& B 989 | Al 379 0
moE 79| A4 33| A2
t Wl 664 | o 33| 0
N & 8,004 | A 14 3,380 A 2




W 5

B X A A O

i) [Fa18408 A 01 B BAE)

X % A 0O | BiAk | w#EK | WAk

& &t 34,515 | A 7 13,413 | A 27
RE 16,569 | A 50 - -
AR T 17,946 | A 27 - -

w3 4,471 7 1,829 5

B = 2,937 A6 1,030 | A1

MERE ol e 4 196 0

oy 798 | A1 234 0

*x B # K 6, 081 0 2, 202 0

R 2.169 | A 10 814 | A 3

P 1,705 | A 18 613| A5

6T B M K 3.368| A6 1,142 Al

BERAK 1,243 1 428 0

= H o# K 2,330 | A 30 1,269 | A 29

R X 746 | A5 269 0

N gt 26,521 | A 67 10,026 | A 34

r B 1,189 4 573 5

oo 648 | A 2 27T 0

2 B 479 1 228 0

—— 1,100 | A2 461 1

Ml 2.143| A3 845 3

=8 84| A5 3| Al

Wk 18T | A3 322 Al

£ 664 of 303 0

N B 7,994 | A 10 3, 387 7




i B H X B A O tesissgoageE]
X & A O | WAk | wEK | Ak
& gt 34,459 | A 58 13,410 | A 3

| = 16,547 | A 22 - -

AR 17,912 | A 34 - ,

mo 4,482 11 1,830 1

B = 2,933 A4 1,030 0
e 872 | A1 196 0
BB 801 3 236 2

*x B # X 6,063 | A 18 2, 202 0
R X 2,171 2 815 1
P 1,707 2 613 0
OB 4 X 3,365 | A 3 1,143 1
BERBHK 1, 241 A 2 429 1
= # K 2,323 AT 1,264| A5
H RN KX 746 0 269 0
N Et 26,504 | A 1T 10, 027 1
£ B 1,183 A6 574 1

o 648 0 277 0

R 8 41| A2 21| Al
"Ll 1,098 | A2 460 | A1
M 2.131 | A 12 845 0

=@ 94| A 10 - 378 0

Wk  784| A3 32| 0

€ w660 A4 300 A3

N E 7,955 | A 39 3,383 | A4




o B H X Bl A O emissiosase)
X % A O | WAk wmEx | §6AkK
& & 34,401 | A 58 13,403 | AT

R 16,519 | A 28 - -

AR 17.882 | A 30 - -

" 4,466 | A 18 1,828 A2

B = 2,928 A5 1,030 0
e 668 | A 4 197 1
- 802 | 1 236 0

*x B # X 6,078 15 2,207 5
R M X 2,163 NE 813 | A 2
# R K 1,710 3 615 9
BT B H X 3, 359 A 6 1,145 2
BERAK 1,239 A 2 429 0
= o K 2. 320 A 3 1,261 A 3
R M K 744 | A 2 27| A2
AN gt 26,477 | A 27 10, 028 1
£ B L1T4 | A9 568 | A 6

G 645 A 3 27T 0

B B a6 | A1l 297 0
s |F P 1092 | A 59| A1l
" 2,127 A4 846 1

s 971 A3 378 0

m e 81| A3 21| A1l

W 658 | A2 209 Al

N E 7.924 | A 31 3,375 A8




my B TH AL X B A O emisseingoaze]
X & A 0O | WAk | mEK | WAk
& &t 34,349 | A 52 13,382 | A 21

RE: 16,485 | A 34 - -

S 17,864 | A 18 - -
" 4,449 | A 17 1,820 A 8
B = 2,916 | A 12 1,025 | A5
e 661 | A7 195 A2
# B 804 ol 236 0
*x B # X 6,069 | A9 2,208 1
W I X 2,178 15 817 4
B OR X 1,714 4 616 1
BT 9 # X 3.356 | A 3 1,145 0
BAERHK 1,238 | A1 429 0
= ## K 2.310 | A 10 1,253 | A8
BB X 42 | A2 267 0
N a3t 26,437 | A 40 10,011 | A 17
£ B L1712 A2 566 | A 2
B 639 | A 6 273 | A4
2 & 475 | A1 297 0
— 1,090 | A2 458 A1
M A 2,129 2 846 0
* B 966 | A5 378 | 0
Wk 84| 3 324 | 3
t® 67| A1l 20| o0
N g 7.912 | A 12 3,371 A 4




B A X Bl A O emissizgo emE)
X % A O | fiAK| ®mEK | WA
& & 34,318 | A 31 13,372 | A 10|

| = 16,467 | A 18 - -

AR 17,851 | A 13 - -

" 4, 455 8 1,822 2

B = 2,915 Al 1,024 | A1
AR 660 Al 195 0
s 805 | 236 0

x B # K 6,056 | A 13 2,208 0
R R 2,182 4 818 1
B R 1,715 1 618 2
HT B M X 3, 351 A5 1,145 0
EERAK 1,236 A 2 428 NE
= K 2,302 | A8 1,244 A9
R B K 742 0 267 0
N 26,419 | A 18 10,005 | A6
£ B 1,172 0 565 | A 1

BT 638 | A1 273 0

R o8 475 0 297 0
U 1,085 | A5 458 0
M 2,125 | A4 846 0

= & 067 | 1 377 Al

W ok 81| A3 324 0

t W 656 | A1l 297 | A2
D 7,899 | A 13 3,367 | A4




i E X 5 A O

[SER%194E01 A 01 B Bize)
X & A O | BiAK | @K | WAk
& &t 34,272 | A 48 13,356 | A 16

| B 16,432 | A 35 - -

AL s 17,840 | A 11 - -
m o 4,449 | A B 1,818 A4
B = 2,919 4 1,025 1
el e, 661 | 1 195 0
weml 806 | 1 236 0
*x B # X 6, 056 0 2,209 1
R X 2,180 | A 2 818 0
P L714| A1 618 0
B B o X 3,346 | A5 1,145 0
A R#HK 1,236 0 498 0
= # 8 K 2,987 | A 15 1,233 A 11
R H KX 741 A 1 267 0
AN gt 26,395 | A 24 9,002 | A 13
£ p 1,167 A5 561 A 4
R 633| A5 213 0
Ly 473 | A 2 26| A1
—— 1,08 | A2 459 1
M 2,126 I 849 3
£ %1 A6 35| A2
WOk 81| 0 324 0
—— 653 | A3 297 | 0
N gt 7.877T | A 22 3,364 | A 3




gy B R X B A O remisrezaon sz
X A O | Ak | wEK | 6Ak
& &t 34,180 | A 92 13,304 | A 52

| = 16,375 | A 57 - -

AR 17,805 | A 35 - -
S 4,454 5 1,821 3
B = 2., 920 1 1,025 0
kel 660 | A 1 195 0
8 Bt 806 0 236 0
*x B # X 6,047 | A9 2.204| A5
R B X 2.165 | A 15 811 AT
BB M X 1,712 A2 618 0
BT B # X 3,339 | AT 1,143 A2
HERBHK 1,285 | A1 21 Al
= 5 K 2.252 | A 35 1,201 | A 32
R B X 740 | A1 266 | A 1
N B 26,330 | A 65 0,047 | A 45
£ B 1,160 | A7 553 | A 8
B 624 | A9 271 A 2
- 412 | A1 226 0
—— 1,08 | 2 460 1
Mo 2121 A5 852 3
X 958 | A 3 375 | 0
w1 78| A3 323 A1l
£ o852 a1l 297 0
N E 7,850 | A 27 3, 357 AT




B X A A DO

FRRI95:3A 18 Bl
(6L AD: A, HB3#:#)

& FRI9%3A 10 2 WA K =
i % & it 5 jzz at HAn MRk
A # 2.118 2,326 4,444 Ad N A 10 1,815 N
R =z 1,368 1,544 2,910 A3 AT A 10 1,025 0
i =+ 335 325 é&ﬁ 0 0 0 195 0
@ o 302 414 806 Al ! 0 236 0
x B 2,925 3,131 6,056 3 6 9 2,200 5
ol B 1.035 1,134 2,169 2 2 4 812 !
8 B 819 886 1,705 A2 N AT 617 N
L 1,571 1,759 3,330 AT A2 N 1142 Al
HE R 575 658 1,233 Al Al N 426 Al
= # 1,201 987 2.188 N A3 A 84 1. 140 A 6l
R 19 391 740 Al ! 0 266 0
At 12.688|  13.555| 26,241 A TS A 14 A 8 9,883 N
= B 517 637 1154 A2 A4 N 549 A4
BB 301 323 624 0 0 0 271 0
BB 214 256 470 0 A2 A2 225 Al
# | 493 590 1,083 A 0 A2 461 !
G 987 1,124 2.1 A4 N A 10 851 Al
£ B 445 512 957 Al 0 Al 315 0
® Lt 364 n 75 A2 Al A3 322 Al
t W 280 367 847 N A3 AS 295 A2
A Bt 3,601 4,220 7,821 A 13 A 16 A2 3,349 A8
& & 16.287| 17,775 34,062 A 88 An|  ans| 1323 A T2




